i ’
Name: G)C%A Hour: Date:

Learninz Targets
 State and check the Random, 10%, and Large Counts conditions for constructing a
confidence interval for a population proportion. .
¢ Determine the critical value for calculating a C% confidence interval for a population
proportion using a table or technology.
* Construct and interpret a confidence interval for a population proportion.

Lesson 8.2: Day 1: Which way will the Hershey Kiss land?
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When you toss a Hershey Kiss, it sometimes lands flat and sometimes lands on its side.
What proportion of tosses will land flat?

Each group of four selects a random sample of 50 Hershey’s Kisses to bring back to thgir desks.

Toss the 50 Kisses and then calculate the proportion that land flat, Let p = the proportion of the
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Kisses that land flat.
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1. What is your point estimate for the true proportion that land fla B, (canp/ci
2. Identify the population, parameter, sample and statistic.
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. We don't know the value of p (that’s the whole point of a confidence interval

) so we will use b
instead. Calculate the standard deviation.
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8. In a normal distribution, 95% of the data lies within 2 standard deviations of the [ne'an’b
This value is called the critical value. Use table A or InverseNorm to find these critica 9,
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11.Add your interval to the graph on the board. Sketch the graph below.
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12.What do you think is the true proportion of kisses that land flat is?
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Lesson 8.2 Day 1- Constructing a Confidence Interval for p

Important ideas:
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Check Your Understanding

Sleep Awareness Week begins in the spring with the release of the National Sleep
Fpundation‘s annual poll of U.S. sleep habits and ends with the beginning of daylight savings
time, when most people lose an hour of sleep. In the foundation's random sample of 1029
U'.Sh.tadults, 48% reported that they “often or always” got enough sleep during the last 7
nights.
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2. nh§Ck’5 the conditions for constructing a confidence interval for p are met.
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3_Find the critical value for a 98% confidence interval. Then calculate the interval.
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4. Interpret the interval in context.
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